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�
����� � �
�� ������� �������� 4��	 ��� :
�����:��
�
������ ����	
���� ��
�����
�� ������� ������� f i �
��
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Mn+1 = [1 − aMn]Mn + aMn[λMn] �2�
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aMn =

⎛
⎜⎜⎜⎝
∫

SM−1

∫ Mn

0

sinM−1 rdrdω∫
SM−1

∫ π/2

0

sinM−1 rdrdω

⎞
⎟⎟⎟⎠

1/M

�<�

≈ Mn

(MIM )1/M
. �>�

�����

IM =
∫ π/2

0

sinM−1 rdrdw =
√

πΓ[M/2]
2Γ[(M + 1)/2]
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|AL
n+1| = |DM |(Mn + θ)M , �(A�

|AR
n+1| = |DM |(Mn − θ)M , �((�

|An| = |DM |MM
n , �()�

����� |DM | �� ��� ����	� � ��� �
�� M ���	�
���
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E
[ |An+1|

|An|
]

=
1

2Mn

∫ Mn

−Mn

(
|AL

n+1|
An

)2

+

(
|AR

n+1|
An

)2

dθ

�(.�

=
2

2M + 1
. �(2�

���
 λ ��

=
(

2
2M + 1

)1/M

. �(7�



#
 ���
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�

css =
(MIM )1/M

1 −
(

2
2M+1

)1/M
�(;�

 ��	 �;�� �<� 

� �(7��

W
^

An+1 An+1
0

θ
-M MRL nn

x

new example
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